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There were two enactments — 197 nupn Nw

OVERVIEW

The X713 resolves the contradiction between the Xn»"2 (which states that the 172105
of @175 NIA?R is 0 nR1) and our mwn (which gives her a 72103 of a 1) by saying
there were two nupn for an 175 NIMOR (which were instituted after the original
ruling that an 372 N9 receives a m1n); one that she should receive 0»nXn (the view
of the Xn>12) and the second to revert back to a 7In (like our rmzm).‘ mooIn
explains why we could not have resolved this contradiction differently.

mMooIn mentions and negates an alternate resolution to the contradiction:
- 1N 1PN RTNT 919915 RO

And the X713 could not have answered that there was one ;7320 only -
= DONNN NINYNY NPINY NIPN INNRY NN 13PN 0P 1PN

And our mw» is discussing the situation before the mpn (where the 72102 of all
MR is a 71n) and the Xnv13 is discussing after the 7ipn where they instituted
a 72100 of a»'nR» for 0°3770 NIMBR (and there was no second 7PN to revert back to a 3373)3 -

The reason this explanation is unacceptable is -
= QONNND INY YT NOWN 199N XNYT

Because we see nowadays that 0°1770 n129% do not have a 721> of 2" nK» —

mooin offers (and negates) an additional resolution to the contradiction:
- Sonnm “nanoNy 19 ) 122P5 MINND YAIX NHINAY 19PN 25 NIPIVNT 9133 919919 XD

And we cannot also answer that initially when they enacted for a 7112 a 72102
of nIX» '7, they also instituted for an 771%%8 a 72105 of 2% nR» —

! This (according to the 1"277) is *"w1 nw*w (that the original 71» 737X N2IN5 is not a 7PN but rather 1°77 1P°Yn). An
alternate explanation is that the first 73pn was 711 and the second was 2*n&» (and 7702 17°777X is not considered
a ‘new’ 11PN but rather reverting to the original 711pn).

% The 3pn of 0°375 NIYXRY 0»NRA since (as the XM states) 131 112 221917 WAT

> The advantage of this proposed answer is twofold; firstly that there is only one mpn, and secondly since
presumably the Xn>71 is usually post-71wn therefore it is better to assume that the Xn>12 is discussing a later period
than the 71wn; however according to the s'X7 3 answer the 771wn is discussing the later period.

* This proposed solution is suggesting that instead of three phases [1) initially 71 732982 MIX» '7 791022 PN, 2) 1%
IR 7772 1°PN 12 221917 T, and finally 3) 17095 1009738 Y21 P KpT T 11°0]; there will only be two phases [1)
D NRA TINPRDYT MR "7 721037 PN, and 2) w1on?n? 1r07aR]. It will therefore be (considered as) one mipn only. This
proposed answer is better understood if we assume the alternate view in footnote # 1. See ‘Thinking it over’.

> According to this proposed solution, the reason they gave 0»nx» 21712 NoX was not because of 172 51917 11 (as
is evident from later in this m210In, see footnote #6), but rather 7337122 WY 72¥n (as they did by 373 n9n2).
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Moo negates this suggestion:
- %yn3 55t9107 7MY INIY ANK RY DN DINNM NINYIRY 1PNY K930 PNT

For it is not logical to enact that an m»%X receive @»nxn» (for no apparent

reason), unless the 02017 saw a need (to give her 0°nX») since they were scorned -
- 1INYN INUN IMIVY I8 XY NYPIYNI Ta990]

[Therefore we must conclude that initially they did not want that 370 niaox

should be different from the other 7X7%° nMIAYR and all received a man —
- 1IND DAY PPN TNY NPAY IND 112 S99 NPT AT 11999

But once the o251 saw that the 0°370 n1n%X were scorned they realized there is a

need to protect them and they instituted for them a 72103 of nR® —
= [Y9990905 1199TIN 1171993910 YWY 1TNT 199D

But one they saw that people are avoiding them, they returned it to their

original status of 71n] -
1Y PN SNV WY T8N 7o

So therefore it was necessary for "X 27 to state that there were two nupn.

SUMMARY
We cannot say there was only one 7ipn of 0»nXn, for today it is a 7. We also
cannot say that initially they gave her o>n&n without the reason of 172 *%19117 W1,

THINKING IT OVER

Mmoo suggested that initially (when they were mxn '7 72 for a 791n2) they gave
an o»nx» 7R (which would explain the mwn).” However the miwn states ninox
mIn An2no 20370 and then concludes MXD "7 771027 12w 1°7; indicating that when
M7 "7 Pan for a 791N an 7oK received only a !

6 See footnote # 5.
7 See footnote # 4.
¥ See w"x77 MoOIN.
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